m - mass of material point

L1

Lk
M - mass & there is no friction
of slope v L
B
',-I. y °¥_~ -
fy
v ¢
j o i
\
— rl"‘ -
1,_: Yyt VI &
L - q f" . (
7 W oragii gl () &
- . “\vl-' A W
1 | MW Y~ e L
— .'—'_' ¥
4w
\"\-.‘ \ A
7 = ; R id.\‘ b. fe >N
D — 1.t
1 - T
2 M A ’ J
Wi
W) [ T L @ o e—
Te—— ‘ \ 6
T B ' = \‘ ' IL
™ Mo ~ kel WAL

0 -
.1'\:' ' =18~
) 4
o Vi= W9 N
O
i)
Sl 8 =
X e
"Ii’,. - ]1"
L4
: }
\/

A 1
- 2 C 1 &
{ - ¢ ~1 P
8 ]
- |
l'l
- 7
| 5 = |
_1 < :} I‘
o= ———— e )
.\':': - SN y U
q
\/ - ) . 1 i
| S o
(1

i

Because there is no friction between slope and ground. There is no air resist. After the passage of time
t slope will be moving through uniform motion with velocity v=a-t.

If sliding friction factor would be bigger than zero then the position of slope after time t would be
another. Road s2 which were passed by slope would be smaller.
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